T&T5 3.6 Normal distribution

Find the value of z; in each of the following if 7 is a random variable with normal

distribution.
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In each of the following, x is a random variable with normal distribution with a given mean
(p) and standard deviation (o). Find the required probability in each case.
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T&T5 3.6 Normal distribution

32. The mean length of 500 laurel leaves from a certain bush is 151 mm and the standard
deviation is 15 mm. Assuming that the lengths are normally distributed, find how many

leaves measure
(i) greater than 185 mm

(it) between 120mm and 155 mm.

},{= I5] mm
D’= Is hana

() P (x 2085m)7

'7.-._.44 than [§S 0

N>

&
=
wy

D 2= |8:'fﬂ=3_tt = 2-2L
IS £y

p(z= 2:26) = 98.9) yA

P(z 2226) = oK I R

> |11% o S0 = 5

= [111%

¢

April 30, 2014



	Page 1
	Page 2

